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© 1. Fillin the boxes. iR
(@ 3 m of milk can fill a \) by A ‘;@ can fill 8 . () =8
Capac1ty of]ug is 3 gla%es Capacity of kettle is @ B

‘ . cups. @

(c) 12 ofs\qup canfilla @. (d) A ' can fill 25 . o
; CapaCltY *of soup bowl is |9 Capacity of bucket is2§5 4 S
spoonsilg g e

RS T IR ) | 1"
. = (e) 25 /" of water can fill a &> (Hh A @ can fil] 4 ' ”?_
13 ; Capacity of pot 1%2_5 ladles. Capacxt) of dry, =

kY m ;.

1* ; buckets. 40—




@?EXERCISE 8.9
_ 1. Arrange in incrcasing

order of capacity, Write 1,2and 3 in the boxes,

Arrange in decre

asing order of length. Write 1,2and 3 in the boxes.

2" ; ) |
-~ Ubserve \thé':bé”f(‘)ﬁ"piéturés and fill in the bigrKy: =
e @) Ty

(d) .

~ \ . )
F  has the greatest capacity.
5 the least capacily.
L T hasthe leas
(”) hold less water than, bow1
can holc
i) AOnJJ

» water than the bathroom myp
)CD E, FJH can hold morc wﬂ’u‘ ,t]'l“w i but Jese, tha:]’ i
¢y ’G] holds more waler tha Pa,
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| Akshay decides l(l)\nll the ¢1a d “

. ass and pour it int st again and again

L tillthe potis full. This way ho P into a pot ag: g

‘; To fill pot A he b vjpe fill U both the pots A and B. =

\ ad to go to the

| o fill pot B he had = JR St g

] 0 po 1€ had to g t¢ , )

! 8O to the tap 16 times, .|

! Tick the correct ansyppy . :

l erand cross out e incorrect answer i the §

following:

(a) PQ{A / st more water.

(b) Pog(\ holds twice / l@t/Js much w
(c) Pot B holds twice h';{w_lt

Pl et e ) OO

ater as pot B. 5

as much water as pot A. i
. After pouring one glass of v
D they look as follows:
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aterin each of the vessels A, B, Cand
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Observe the above and fill in the boxes:

- (a) Vessel A needs 5 more glasses of water to be full.

It can hold 6 glasses of water.

I,

S bl v o

i (b) Vessel B needs more glasses of water to be full.

. Itcanhold } glasses of water.
(c) .f"f‘Vessel C needs 9 more glasses of water to be full.
eIt canhold 3 glasses of water. & .

:(d Vessel D needs | more glasses of water to be Full
“Iti an_hold 2_ glasses of water.

) Capaelty of vessel A is 9 times capacxty of vessel C
‘ - . sel D.

es capacity of of ves



ngXERCISE 8.4

Tick (¥) the items whxch hav

€ a capacity of more than 1 litre. Cross
out (¥) the items which have

A capacity of less than 1 ljtre.

) i (b) j
@ & (c) 3‘
S ‘mg‘&i
v X
(§v) : (h) (i) o
’g : | ‘é'" ‘.‘;.’ ”'“'f».ﬁ‘
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B 20 litres QL
34 3 Say True or False | (Tlck the correct cnmce and cross ottt the incorrect)
).(a}._., ;Afnyllk pouc}} M h?lfis about 1 L of mllk (True / Favqu’ ,‘
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(b) 3L A5 50 ml 100 ml, 200 ml, 500 mi, 1L, 2L

<) 3L150ml

(d) An ‘.mhm pnl f*'“ ”**a holds 600 1 of waler. (True /| Al =

an be filled by 30 1L of pe '“1] B

w/ g '”'w.’ e

¢ (l(li the fullm.‘v’il'l“.

() The pe lro L\l\‘\ n[ my car s" Py €

[ick the ladles you need to measur

() 250 ml 50 ml, 100 ml, 200 ml, so0ml, 1L, 2L —
v v/ .

(b)Y 700 m| 50 ml, 100 ml, 200 ml, s00ml, 11,21 b
v Vv -

@ TL700ml 50 ml, 100 ml, 200 ml, 500 ml, 11,21 »
VR
Tick the Jadles you need to measure out the following. \ b
(@) 2 L500ml 50 ml, 100 ml, 200 ml, 500 ml 1L, 2L .
v~ v’

v

0 ml 100 ml, 200 ml, 500 ml, 1L, 2L

U1
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" | 5 6 3 ml
+2 1 8ml

—’8 | mi

1 357 [
Heh 2.1

m_ ml

at quantity'of water will it contain

yatey a tark has =675/

MOo¥e added*3l7L
of watey it contain= 6TS+317=

-—l98ml
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1. 20 glasses of water are needed (o fill an carthen pot.

Then capacity of carthen pot is 20 plasses.

2. Arrange in increx aAsing order of Ldpdflf\’

bathroom mug, overhe ad tank, bucket, drum.

BQ+MOmmu3 2. bucket £ _dsum £ Ovexhand Hank -
3. Arrange in decreasing order of capacity:

Dropper, pressire-cooker, lea ciip, carthen pol.

Coaxthen ot > p‘df SSuy. e——CODKEJs?'Eea cup)dvoppeb

4. How many milliliters make one litre ?

_1000.m]_ make__ onemltb’&__ I

capacity ol the following

5. In what units will you measure the
(a) CJVV”'n]Tlln}D p()()]—L\{"@ (b) h()f”( Uf hdtI H ‘Tﬂl"' ,[tels
| (c) syringe —milirlitess (d) cola can milliliters
6. A contamer has 723 ml of oil. Another cont tainer has f) mI ‘

How much oil do the two containers have in all?

|2 Copaag_of_oll_n_caniamer has= 33wl
has="T50ml_

7 A store had 72%“[4 of i Kergscne Of 1}181\5( 37'7 ﬁ ﬁf? sold. What quau:,r_

of kerosene is left in the store now?

Capqdhf_aﬁkem_smﬂl_me_hjxii_ﬂ_@_ ]
osene  (waS _Sold 5 |
e icleft= | HB3L| e

.8 A pouch has 100 ml of paint. How many liters will 10 such pouches

~ have?

_@41@ frhr oP Dom{ Q. nnuc}: has [00.m!
Mjmbpz of' pauch e’ = X10
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